AOTIZTIKOI APIOMOAEIKTEZ — ACCOUNTING RATIOS
Acikteg ATrédoong (R Kepdogopiag) — Profitability Ratios

(i) AgikTng MeikToU MepiBwpiou | MeikToU Képdoug (Gross Profit Margin)

6 Képs
Agiktng MeikTou Képdoug = Meuero KepooS %100 = %

HwANoELg

Gross Profit

Gross Profit margin = 100

Revenue (Sales)

(i1) Agiktng KaBapou MepiBwpiou | KaBapou Képdoug (Net Profit Margin)

KaBapb Asttovpyikd KépbSo
p pY poog X 100 = %

AgikTng KaBapou Képdoug = omnosi

Net Income (Operating Profit)

Net Profit margin = X 100 = %

Revenue (Sales)

(iii) Agiktng ATr6do0ong ATracXoAoUpuevwy - ETrevdupévwyv KepaAaiwyv
(Return on Capital Employed-ROCE)

i i i KaBapa Kepén mpv amod T0kovg& @OpovsH
a) Amédoon AmracyoloUuevwy Kepahaiwy = - - - x 100 =%
20vodo Anacyolovuévwv Kepaiaiwv

Net profit before interest & taxes*

ROCE = x 100

Total Capital Employed

*or operating profit

KaBapd Képdn uetd amd t0kovg& @opov
(b) Arédoon AtracxoAoupevwy Kepalaiwy = prEPON B - - S POPOTE X100 = %
Amtaoyodovusva Kepdlaia

Net profit after interest & taxes

ROCE** = x 100

Owners'Capital Employed

** Or Return on Equity or Return on shareholders’ funds (ROSF)



Acgikteg PeuotoéTntag — Liquidity Ratios
(i) Aciktng KukAog@opiakng (N MNevikAg) PeuoTtdétnrag (Current Ratio)

KvkAdo@opiakd Evepyntikd

Aciktng KukAogoplakr¢ Peuotdtntag =
ns popiakns fras BpayvmpdOeoues YO Y pEWOELS

Current Assets

Current ratio = —
Current Liabilities

(ii) Agiktng MpayuaTtikAg (A EI81kAG) PeuoTdéTtnTag (Acid Test or Quick ratio)

KvkAdo@opiakd Evepyntiké—Amobsuata

Aciktng Mpayuartikng Peuotétntag =
ns Hipavl ns nras BpayvmpbOeoues YTOYpEWTELS

Current Assets—Inventory

Acid Test (or Quick ratio) = ——
Current Liabilities

Acgikteg Apaotnpidétnrag — Activity Ratios (Use of assets)

(i) Acgiktng KukAogopiakng Taxutnrag AmoBsudrwy (Inventory Turnover)

. s . . _ Kootog lwAoewv _ .
Aciktng KukAo@opiakng Taxutntag ATToBeudtwy Mioos Opoc Amobeniaay — | POPES

Cost of Sales
Average Inventory

=? times

Inventory Turnover =

Average inventory= (Opening+closing)/2
(i) Méon MNepiodog Eiompagng (Average collection period)

XpewaTeg

Méon trepiodog sioTrpaéng = X 365 uépec =? uépeg

HNwAoels e Tiotwon

Trade receivables

Average collection period = X 365 days =?days

Credit sales
(iii) Méon MNepiodog NMAnpwung (Average payment period)

MNoTWTES

Méon Tepiodog TTANPWUAG = X 365 uépec =7 uépeg

Ayopég ue miotwon

Trade payables

Average payment period = X 365 days =? days

Credit purchases



Acikteg Xpéoug | MoxAeuong (Solvency Ratios)

(i) Aegiktng MoxAguong

MakpoTpOBECUEG VTTIOXPEWCELG

Aciktng MéxAeuong = X100 =-- %

2UVoAo ATao Y0AOVUEVWY KEQPalaiwV

. . Non—current liabilities
Gearing ratio = . X 100 =%
Total Capital Employed




